

NAME: NOMOLEDE MATHEW Gbanga

DEPARTMENT: PETROLEUM ENGINEERING

MATRO NO: A/ENB071005

COURSE CODE: MAT104.

① $x^2 \sin x dx$

② $3t e^{2t} dt$

③ $2x^2 \ln x dx$

④ $\frac{(2x-3x^2)}{(1-x)} dx$

① $\int x^2 \sin x$

Let $u = x^2$ and $dv = \sin x$

$\frac{du}{dx} = 2x$ and $v = -\cos x$

using $uv = \int v du$

$(x^2)(-\cos x) - \int (-\cos x)(2x dx)$

$-x^2 \cos x - \int -2x \cos x dx$

Let $u = 2x$ and $dv = \cos x$

$\frac{du}{dx} = 2$ and $v = \sin x$

$\therefore (-2x)(\sin x) - \int (\sin x)(2) dx$

$-2x \sin x - (2) \int \sin x dx$

$-2x \sin x - (2) \int \sin x dx$

$-2x \sin x + 2 \cos x + c$

$\therefore \int x^2 \sin x = -x^2 \cos x - 2x \sin x + 2 \cos x + c$

② $3t e^{2t}$

Let $u = 3t$ and $dv = e^{2t}$

$\frac{du}{dt} = 3$

$\int dv = \int e^{2t}$

$du = 3 dt$

$v = \frac{e^{2t}}{2}$

Using $UV - \int v du = \int u dv$

$$= 3t \left(\frac{e^{2t}}{2} \right) - \int \frac{e^{2t}}{2} \times 3 dt$$

$$= 3t \left(\frac{e^{2t}}{2} \right) - \frac{1}{2} \int 3e^{2t} dt$$

$$= 3t \left(\frac{e^{2t}}{2} \right) - \frac{1}{2} \times \frac{3e^{2t}}{2} + C$$

$$\int \left[\frac{3te^{2t}}{2} - \frac{3e^{2t}}{4} \right] + C$$

③ $2x^2 \ln x dx$

let $u = 2x^2$, $du = 4x dx$

$\frac{du}{dx} = 4x$ $v = \frac{1}{x}$

$du = 4x dx$ $v = \frac{1}{x}$

Using $UV - \int v du = \int u dv$

$$= 2x^2 \left(\frac{1}{x} \right) - \int \frac{1}{x} \times 4x dx$$

$$= \frac{2x^2}{x} - \int \frac{4x}{x} dx$$

$$= 2x - 4 + C$$

$$4, \frac{2x - 3x^2}{1-x}$$

$$1-x$$

$$\begin{array}{r} 2x - x^2 \\ 1-x \overline{) 2x - 3x^2} \\ \underline{-2x - 2x^2} \\ - x^2 \\ \underline{-x^2 + x^3} \\ -x^3 \end{array}$$

which can now be

$$\int (2x - x^2) dx + \int \frac{-x^3}{1-x} dx$$

$$= \frac{2x^2}{2} - \frac{x^3}{3} + x^3 \ln(1-x)$$

N.U.E.S.A